Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester -III Regular / Remedial Examination December - 2010

Subject code: 335402
Subject Name: Financial Accounting-I1
Date: 28 /12 /2010 Time: 10.30 am - 01.00 pm
Total Marks: 70
Instructions:
1. Attempt any five questions.
Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.
English version is Authentic
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Q.1 (a) Explain on Partnership deed.
(b) Explain Fixed & Fluctuating Capital Account of Partners.
Q.2 (a) A and B are partners in a firm sharing Profits and Losses in the ratio of 2 : 1.
Their Balance Sheet on 31% March, 2000 was as under:

Liabilities Rs. Assets RS.

‘A’s Capital 60,000 | Land and Building 50,000
‘B’s Capital 32,000 | Office Furniture 2,000
Reserve Fund 9,000 | Stock 40,000
Creditors 34,000 | Debtors 32,000
Bills Receivable 6,000

Cash on hand 5,000

1,35,000 1,35,000

They admit X into partnership on 1** April, 2000 on the following terms:
(1) X will bring Rs. 20,000 as his capital for 1/ 5™ share in future profits.
(2) Value of land and building is appreciated by 20 %.
(3) Value of stock and furniture is reduced by 10 %.
(4) 5 % of reserve for doubtful debts is created for discount on debtors.
(5) A reserve of Rs. 300 is created for discount on creditors.
(6) Outstanding rent Rs. 300 is brought into books.
Prepare Profit and Loss Adjustment Account, Capital Accounts of the Partners.

(b) Explain on Methods of treatment of Goodwill
OR
(b) Explain on Profit and Losses adjustment account in admission of new
partnership.
Q.3 (a) Vijay and Ramesh are partners sharing profits and losses in the ratio of 3: 2. The
following is the Balance sheet of the firm on 31* March, 2000.
Balance Sheet

Liabilities Rs. Assets RS.

Capital Accounts: Building 5,000
Vijay 5,150 | Machinery 2,000

Ramesh 2,600 | Debtors 4,500
Reserve Fund 2,000 | Less: B.D. 150 3,850
Creditors 4,500 | Reserve 6,000
Bills Payable 3,750 | Stock 1,150
18,000 | Cash 18,000
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(b)
Q3 (a)

(b)
Q.4

They decide to Anand into partnership on 01-04-2000 on following terms:
(1) Anand will get 1/5th share in profits and losses. He brings an amount
equal to 1/5th of the net assets of the new firm in cash by way of his
capital.
(2) It was agreed to revalue the assets and liabilities as under:
(a) Building to be valued at Rs. 7,500
(b) Value of machinery to be reduced by 10%.
(c) A provision of 5% to be made for doubtful debts on debtors.
(d) An amount of Rs. 500 included in creditiors is not likely to be
claimed.
(e) Salary unpaid amounted to RS. 500
Prepare Profit and Loss Adjustment Account, Partner’s Capital Accounts.

Explain dissolution of Partnership Firm. 07
OR
A, B and C are partners sharing profit and losses in the ratio of 5: 3: 2. their 07

Balance sheet stood as under on 31-03-2000:

Liabilities Rs. Assets RS.
Creditors Cash 28,300
Capital: 21,000 | Debtors 18,000

A: 38,000 Stock 25,000
B: 24,000 Furniture 3,000
C: 18,000 80,000 | Machinery 10,000
General Reserve 6,000 | Building 22,700
1,07,000 1,07,000

retires on 1% April, 2000. Following terms were agreed upon:
(1) Assets were revalued as under: Stock Rs. 23,000, Furniture Rs.
2,800, Machinery Rs. 8,000, and Building Rs. 19,900. of debtors Rs.
1,000 is doubtful.
(2) A is to be paid Rs. 10,500 in cash and the balance is to be transferred
to his Loan Account.
Prepare Profit and Loss Adjustment Account and Capital Account of Partners’.
Explain Piecemeal distribution of cash among partners. 07

Ram, Shyam and Balram are partners sharing Profit and Losses in the ratio of 3 07
: 2 : 1 respectively. Their Balance sheet as on 30-06-2000 is as follows:

Liabilities Rs. Assets RS.
Capital: Plant Machinery 18,000
Ram 45,000 | Furniture 12,000
Shyam 30,000 | Stock 22,500
Balram 3,000 | Debtors 24,000
Reserve Fund 9,000 | Bill Receivable 7,500
Creditors 22,500 | Cash on hand 9,000
Unpaid Expenses 1,500 | Profit and Loss 18,000

1,11,000 | Account 1,11,000

They decided to dissolve the firm. Asset realization and payments of debts etc.
is as under:

(1) Plant and machinery realized for Rs. 16,200

(2) Furniture realized for Rs. 8,550 and stock at 10% increased value.

(3) Creditors were paid after allowing 5% discount.

(4) Dissolution expenses amounted to Rs. 1,500
Prepare necessary ledger accounts reciting to dissolution in the books of
partnership.
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Discuss the purpose of amalgamation of Firm. 07
OR

Kanu, Manu and Dinu are partners sharing profits and losses in the ratioof2:2 07
: 1.the partnership agreement made by them provides as follows:

(1) Interest on capital is to be allowed at 10% p.a.

(2) Interest on opening balances of current accounts is to be calculated at

8% p.a.
(3) Annual salaries of Rs. 3,870 and Rs. 2,000 are to be allowed to Kanu
and Manu respectively.

(4) Interest on drawings is to be charged at 8% p.a.
Their fixed capitals are RS. 40,000; Rs. 30,000 and Rs. 20,000 respectively. The
balances of their current accounts on 01-01-1997 were as follows:
Kanu(Cr.) Rs. 8,000; Manu(Dr.) Rs.6,000; Dinu(Cr.) Rs. 4,000
Kanu has withdrawn Rs. 6,000 on 01-03-1997, Manu has withdrawn Rs. 4,500
on 01-05-1997and Dinu has withdrawn Rs. 4,000 on 01-07-1997. Dinu has
given a loan of Rs. 10,000 to the firm on 01-04-1997. There is no agreement
about interest on loan.
The partners have decided to transfer 20% of the divisible profit to General
Reserve. The profit of the firm for the year ending 31-12-0997 was RS. 60,000
without taking the above adjustment into Account.
From the above information, prepare Profit and Loss Appropriation Account.
Partners’” Capital Accounts and Partners’ Current Accounts.

Write Advantages of Partnership. 07
From the following trial balance sheet of A & B partnership firm prepare 07
Trading, Profit & Loss accounts, and balance sheet of the firm:
Particulars Debts Rs. Credit
Opening Stock R0 00—
Capital: A 20100 R —
B 4,000
Drawing: A e 5,000
B | e 5,000
Purchases 96,100 |  ---m--m-mmm-
Sales ] s 1,72,000
Wages 2010 R —
Carriage Inward Y1010 R —
Carriage Outward 201001 R —
Salary 6,000 |  —--mmemeee-
Buildings JOK0 10 I ——
Creditors | s 55,600
Rent e 2,400
Furniture 00 —
Depreciation on Furniture 101010
Debtors 81,000 |  -m-mo-memmm-
Insurance Premium 01010 I A ——
Printing & Stationery 201001 —
Sundry Expenses 204 T 1 —
Repairs JI 00—
Cash on Hand [ B2 1001 R —
TOTAL 3,30,000 3,30,000
Explain Garner v/s Murray’s judgment. 07
OR



Q.5

YaA—q

Uar—2

YUs—3

(a)

(b)

]

]

Two firms of messers A-B and C-D amalgamate on 30-09-2006. the Balance
Sheet of Messers A and B on the same day stood as under:
Balance Sheet

A Liabilities Rs. Assets RS. and
B Creditors 20,000 | Land and Building 60,000
Reserve Fund 6,000 | Furniture 4,000
Capital Account: Stock 16,000
A: 42,000 Debtors 15,000
B: 28,000 70,000 | Cash 1,000
96,000 96,000

were sharing profits and losses in the ratio of 4 : 1. following terms were agreed

upon the firm of A and B:
(1) Goodwill was valued at Rs. 16,000
(2) The value of land and building was to be raised by 10% and Bad
debts reserve was to be created by 4% on debtors.
(3) Furniture was not to be taken over by the new firm.
(4) Stock was valued at Rs. 20,000
Give journal entries to close the books of Messers A and B on amalgamation.
Also prepare necessary Accounts.
Discuss types of Dissolution of Partnership Firm.
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